Solutions pg. 169-170 #13-31 odd, 37-41 odd, 47, 49-54 all 

[image: image4.png]Prove: ST || OV

Proof:

Statements (Reasons)

£1, 21 = /3 (Given)

L £3 (Trans. Prop.)

3.ST|| UV (If alt. int. Zs are =,
lines are ||.)





[image: image2.png]Wite an equation in slope-intercept form for the line that satisfies the
given conditions. 37.y=—2x+3  30.y=—x—4

37. x-intercept = 5, y-intercept =3 38. contains (4 “Dand (2,1
35, contains (—5, ~3)and (10, ~6)  40. wintercept = 5, yintercept = —1

1. contains (—6, 8) and (=6, 4) 0. comams( 4,-1)and (-8, 5)
no slope- mlerceplmv X =X+





47.  F

49. 58       50. 47      51. 75     52. 107       53.  73       54.   49

[image: image1.png]Write an equation in slope-intercept form of the line having the given
slope and y-intercept. 13. y=3x—4

13, m: 3, y-intercept: —4 14, m:2,(0,8) y=2x+8 15. m: g ©.-

Write an equation in point-slope form of the line with the given slope
that contains the given point. 20, y — 7= —5(x—4) 21.y+5= —v(x+ 12)

19, m= 2(3 1) 2(11?) 2. m=-5,(4,7) 2wom=—4, (- %, -5)

2 m=161 23 m=048,(517.12)  24. m=—13,(10,875)

y—17.12=048(x—5)  y—87.5=—1.3(x—10)
Write an equation in slope-intercept form A 1
for each line in the graph. i m= .
5.k y=-3x-2 2. £ J=X+5

om y=2x—4
2. perpendicular to line £, contains (~1, 6)

30. parallel toline k, contains (7, 0) y=—31+21
31. parallel to line n, contains (0, 0) 1x

52, perpendiculgr toline m, contains (3, ~3)

y=—p—7

T
=





Solutions   pg. 176 #9, 11,19,23

[image: image3.png]8. LAEF = /BFG 7E | ‘BF:
9. ZEAB = /DBC AE || BF;
10. ZEFB = /CBF AC || EG: = alt. int. &

1. mLGFD + m/CBD = 180 AC ] E: suppl. consec. int. &





19.  No slope of CD is -1/5 and slope of AB is -1/4
